Layer 2 model questions

A converging beam of light is incident on a plane mirror. The reflected beam of light will be —

P BTR NG WAP I JFO TNO T Aoifow =& | AfSwiere I o 77 -
A. aparallel beam of light (STNISTeT AP I BR)
B. a converging beam of light WW?@@@
C. adiverging beam of light @W@Wﬂ@ﬁ)
D. may be converging or diverging depending on the colour of light
(SATATR 08T OHNT (NG FI WAL I A 20O HIH)

The unit pascal (Pa) may be written as —
HTHT (Pa) IFHBOE (T O NPT FT (T, O = —

A. kg ms?

B. newton/metre (NGG~/MNBR)

C. joule/metre (G&/fNBIH)
D. kg mis?

A force of 15 N is applied on a body and it moves through a distance of 60 cm in the direction of the
applied force. The work done in the process is —

3516 IBLO 15 N T JHI0 JeT AT FA A B0 AYS I WMoY 60 cm FIYF WO
FEI G2 ATFIOCS (T I T =T, ©F =4 -

A. 900 joule (\GT)
B. 4 joule (\G¢)
C. 90 joule (\G)
D. 9joule (\G<)

Which of the following statements is true for specific heat capacity?
ARFS O [RT0T R (@1 [IFM0 Af3F2

A. Specific heat capacity has no unit (TARFF OITAT (FIAT JFP (F2)
B. Unit of Specific heat capacity is ‘calorie/gram’
(CATFP OIAT JFP B/ ATN)
C. Unit of specific heat capacity is ‘calorie/(gram.°CY’
(ACATFP OIAT AP FIEAR/(ATN.0C))
D. Specific heat depends only on the mass of the body
(TACHNFF O (FIANG I8 O 397 N7 FF)

A steel spoon feels colder than a wooden spoon in winter, because —
AOHIA JF6 B BING (F JHT0 IO BINCEI (GTF ([ 1T WA =W, FIEV—

A. Steel spoon has a lower temperature than wooden spoon
(POTETI BINE 49 SBOl FICIF BINIGS (BT FN)

B. Steel spoon has a lower specific heat capacity than wooden spoon
(PO BING 9 ACHAERS 19 FIIF BINCES (BT FN)

C. Steel spoon is a better conductor of heat than wooden spoon
(BT BINE FICHF BINTER (5T Ol JARAIRY)




D. Steel spoon contains less heat than wooden spoon
(FSBLeT BINICE FICSH BINCES (BTF FN O WA(R)

After combing your hair if you take the comb near some pieces of paper, the papers are attracted
by the comb. This happens because —

o AT 5 WHGIAR 7 B B [Fg FINGR GHIEAR FI0R (NI (576 FINGE
LR AISTANS P WFHT FR| T FIRT —

A. Comb and the pleces of paper gets oppositely charged
(O 8 PG GRET AT [T AN R =)

B. Electric induction polanzes opposite charges of every piece of paper at its two
ends (SfSS WM T ASE FINGR HHRCS [FAIS WS HT IR
(ATF HLH A DREE 1R ANS 6 X))

C. Gravitational force of attraction acts between the comb and the pieces of papers

TN 8 FINTRF [LFER N WY I (& FF)

D. Magnetic force of attraction acts between the comb and the pieces of papers

(B 8 PG HRAR N (BIFS Je1 (@3 BA)

Two containers A and B in a room contain water at room temperature. The temperature of water in A
is raised by 5 degree Centigrade and that in B is raised by 5 degree Fahrenheit. Which of the following
statements is correct in this context?

g6 90T A G2 B Tf6 AT I SO Giel |WR| A-(S T OBl 5 fOf ¢ifF6raw 44s B-
(S 5 FOfS THINZI2G I FAT 2 | G2 X7 N6 (F [JFM A5F2

A. Temperature of water in two containers have been raised by the same amount
(5 AT T GHOT 42 ATV IO ZCA(R)
B. Temperature of water in A has been raised twice that of B
(A-CO SR BT B-49 (5T R (TO(R)
C. Temperature of water in A has been raised by 1.2 times that of B
(A-CO G GROT B-4 (BT 1.2 B I (R )
D. Temperature of water in B has been raised by about 0.56 times of that of A
(B -4 G GO A- A7 DeININ AT 0.56 QB Iz (ATA(R)

A glass rod rubbed with silk becomes positively charged while silk becomes negatively charged. This
happens because —

B0 PIHI TOLH 5T MY TIE IS0 INGS @ S NS LT RS =T, FEY —

A. Glass gains electrons lost by silk

(T (T A [ AW IS FI6 2T F(J) .
B. Glass gains protons lost by silk (57% (I (TEN3feT R TS FIb A2V F()
C. Silk gains electrons lost by glass

(16 (T AR FNS 2R CTefd 7 429 FF)
D. Silk gains protons lost by glass (16 (I (ATEN3feT RN GBI S A=Y IF(H)

A ray of light passing through medium-1 is incident on the surface of a transparent material (medium-
2) at an angle of incidence 30°. Which of the following statements is correct if the angle of refraction
is 50°?

WHIN-1 GF N AT 8T B0 AR I JB0 FoR HMIAT (WELTN-2) TF 30° (FIT Ao
2| AFSTIY (FIY 50° T [N (F [JMO6 AOF?



10.

11.

12.

13.

14.

A. The refractive index of the medium-2 with respect to medium-1 is greater than 1
(WIETN-1 G SACHNTCS WEIN-2 A9 AT 1 9 ([¥)

B. The refractive index of the medium-2 with respect to medium-1 is less than 1
(NIETN-1 K STCANCP NETN-2 9 AT 1 99 F)

C. The angle by which the ray is deviated from its path is 40°.
(CT (BT BT MY O AL (AP [[HT© 2T @1 2 40°)

D. The light-ray travels faster in the medium-1 than in medium-2.
(SMCEATR-FM NLFN-2497 (BT WETN-14 T© IV F()

A piece of stone is thrown upwards. It begins to descend after attaining certain height because —

01 AT HIRT G A NEF Fa1 2671 A6 AT ool G 2t VNS &F FE
PR —

A. the stone is a solid body and not a gas, so it comes down.
(T (G FO I A2 TS N, ©12 Af6 NG (NTH =)
B. this is a rule, anything goes up must come down.
(@6 96 fATw, T fFg THE W O W02 N6 WIS @)
C. the gravity of the earth is always pulling it downward.

(IRIAT IFLY NS A T G ATF Tw)

D. air resistance does not allow it go up indefinitely
@R ASTAY BT WNUTFIAT TN BHNF (TS (7T )

Two plane mirrors are kept at right angles. A ray of light falls on mirror-1 at an incident angle of 6. If it
emerges after being reflected in mirror-2, the deviation of light ray is —

70 STt R TN A4 |G | JHF6 DA I 6 WHG (FICY ToV-1-4 TG | I 4o
792 4 AfSHeNe ST AL NS 7T, O A AT [EIfs = -

A. 150° - 26 B. 90° + 20 C. 180° D. 180°-6

Icebergs are found to float on sea close to arctic area. These are chunks of large floating ice. The
percentage of these chunks that remain under sea-water is closest to —

WHHP BT FIRFIQ TYCH BN RT OPITe (M T ISF SN IC WFHE ICPT
Y| G2 YSSTT TS MO SYH-GLAF NH AP Ol HACGTY PIRBIG S LI =e —

A. 91 B. 87 C. 83 D. 79

A cuboidal block of weight 10N is resting on a horizontal table. The frictional force between the block
and the table is —

G0 AYGNF (GRIEAT 891 10N STIAT JFD TIPS FF B TIZW AU ANZ| FTF S
(BfRTeTR NCe fEarie Tfer 3o 2ot —

. 10N
. ON

A
B

C. More than 10N (10N 43 (3%
D. Less than 10N (10N 4 )

A car travels with a velocity 10ms™ for 10 minutes and with a velocity 15ms™ for next 20 minutes.
What is the average velocity of the car?

A0 NG 10ms™ (TS 10 NG, G33 15ms? ([T HATS! 20 NG Gt MfSBT TR F©2



A. 13.3ms? B. 12.5 ms? C. 13 ms? D. 15 ms?!

15. In a place where the atmospheric pressure is 76 cm of mercury, which of the following diagram is
correct?

A0 ZIN IR B9 76 TN ARAABTEF SITNT SNV | & ZTN G N6 (BN B0 93?2

76cm

16. Three cylindrical containers 1, 2 and 3 are of different sizes. All of them contain the same liquid up to
the level as shown in the figure. F1 , F2 and F; are the forces applied by the liquid on the bases of the
three containers, and P1, P2 and P3 are the pressures exerted by the liquid at the bottom of the three
containers respectively. Which one of the following relations correctly compares the pressures as well
as the forces in the three containers? The dotted lines are given for convenience of comparison of
the heights of water column and diameters of bases of the containers.

fONfe Nard 1T 1, 2 g 3 RO IR SIHF SIF60® JHI6 B LS JF2 OFd WY
(RIS (TIFT (AT AR | Fy, Fz RS Fs 26T TGN [0 ATAF ©NT BN O BT AT
I G Py, P, 32 P3 261 TN fO~I0 ATAR ©f T &2 ©F BT AT 519 | fNT67 576 e
T (FINIG ADPOII fONT N IART G373 TN T FI? BIACO Geolad Gool @
ATQfeTT SATHTRT T QAN A SR G5 ©6 (RSN (I B (AT IR

Fi>F,< F3 and P1>P,<Ps3
Fo>Fi1>F; and P1=P3>P;
Fi<F.< Fs and P1<P2>Ps
Fi=F>F, and P1=P3>P;

COow>



17.

18.

19.

20.

Block A floats when placed in three different liquids of density D1, D, and Ds as shown in the diagram.

Which of the following relations is correct?

G0 FF A, fONG WM O (D4, D, I3 D; TNF S=H) B[RS (TN (AT AR (OGN Ol

OIS | fNTE (41 (I STF(T A2

buoyant force

buoyant force
Dl 2
A. D1>D,;>Ds3
B. D1 <D;<Ds3
C. D1>Dy< D3
D. Di1<D;>Ds3

Ice at 0°C acts as a better cooling agent than an equal amount of water at 0°C. Why?

(PIAT fFRCF ST FAIH T 0°C BBOIF GLeAd BI20W 0°C BBOF ANATINY I9P (I

F(FA| N ?

D3 buoyant force

A. Ice at 0°C floats in water at 0°C (0°C 4 <P 0°C 9 GileT wIt)

B. Temperature of ice is lower than that of water W@&@ CTGERYERT PF)

C. 1gm of ice at 0°C will take 80 cal of heat before melting to 1 gm of water at 0°C.
(0°C OINNTEIT 1 ATV ITP, 0°C SINATAIT 1 AT GiteT AFNS =(® 80 FIAS

17 (7T)

D. Ice has greater volume than equal amount of water (I N0 ST

G ot~ (BT ()

A metallic plate with a hole is heated, then the area of the hole will —

GF0 TS T2 JF0 LS (ABIF Be FAT 26, OIR(A N0 CFaH —

. increase @'I% AIR)

A
B. decrease (™ AIX)
C. be same (AF2 AYF(I)
D

. initially increase and then decrease (TN I L2 O JST AMR)

The velocity-time graph of a body is
In the graph, maximum and minimum
have occurred in the portions

gB6 IV @AY @Ufog [o
AR @ TUorE, (T WRETe SAfEe
B9 TIGR © 26,

Velocity (v)

A. BC and AB respectively (JT&R(N BC 4<] AB)
B. AB and CD respectively (IR AB 4<R CD)

[ D

Time (t)

shown below.
accelerations

RAGK

(T
BEICE



C. AB and BC respectively (I[N AB 4<% BC)
D. BC and CD respectively (I[N BC <R CD)

Match the statements in Column | with the correct answer from Column Il and choose the correct
option.

Column | Column I

1. The salt obtained when a chemical change takes place

on the addition of iron to dilute sulphuric acid. a. Iron(lioxide

2. The product obtained during a physical change when

o . b. Heat Ener
water converts from a liquid into a solid. 9y

3. The product of the chemical change in keeping a

. . . c. Iron Sulphate
polished iron nail exposed to the atmosphere. P

4. A form of energy required for a chemical change. d. Ice

5. The gaseous product of the chemical change which

. L ) e. Carbon dioxide
takes place during respiration in living organisms.

2N BB 7 RIS S Fo B8 49 Taawfd (wes 432 e ds [t BFse 1

A BY fro 39
1. (FTR1 & 1Y AP OIIP SIIG(P MNF® FAK B a. | (1)
ASTINE ARISN qG 8 (T 739 5o =W WHRG
%ﬁﬁfmw,wcwmaﬂmwm .

3. AP ARG ATNSTA GBS FI A4 JH0
e FT =R (IS (T (NS o1fd® FA|

4. ASTANS ARISHT G (T LR =S ATIG | d. T

5. QI NLT YN STNY IPTNAND ARION (T IAAT | . FIRAN-T12-
S 51f9® =T VB

c. WAV A0

1-c, 2-d, 3-a, 4-b, 5-e
1-c, 2-d, 3-b, 4-e, 5-a
1-d, 2-c, 3-e, 4-a, 5-b
1-a, 2-b, 3-c, 4-d, 5-e

ooy

According to the reaction 2A + B — A;B, two substances, A and B were made to react to produce a
third substance A>B. Which of the following statements concerning this reaction are incorrect?

2A + B — A.B 2 Rf&Eam, 76 i, A 492 B RIET I3 AB 436 worg *miyf ST FH| 42
G STifFe Mnffie RIS T (FHG / (@i gar



23.

24.

25.

26.

(i) The product A;B shows the properties of substances A and B (A:B e, A 32 B IR
g (M)

(if) The product will always have a fixed composition (Wﬁﬁ%ﬁﬂaﬁf‘ﬂ ﬂﬁfﬁ?ﬂ%ﬂ;@ TP )
(ii) The product so formed cannot be classified as a compound (?T@E ot CsY 2
i F1 IR AN)

(iv) The product so formed is an element (5f® *m1f® 6 =)

A. (i), (i) and (iii)

B. (i), (i) and (iv)

C. (i), (iii) and (iv)

D. (i), (i) and (iv)

Blood and sea water —
L& AR AYCa] Giel —

A. both are mixtures (5&¥2 fX#)
B. both are compounds (S&I2 (19
C. blood is a mixture whereas sea water is a compound

@S JHT0 R (T STACEF Tl JH6 C9Y)

D. blood is a compound and sea water is a mixture

@S JBO N G STCHS G AH(6 N2
During summer, water kept in an earthen pot becomes cool because of the phenomenon of —
ST ST, WO ATTAI WK AL Ged (T FOANGA BIACT Aroe] J(T AW -

A. diffusion (J7T9YN)

B. transpiration ((I%~)
C. osmosis (oA

D. evaporation (al&ak‘oaﬂ)

Choose the correct statement from the following -
fARfafe RIS S (F AdF [ 537 I+ -

A. Conversion of solid into vapour without passing through the liquid state is called vapourisation.
(ST WIZIF WL FACT 1 1N FIOTH I TNV T — G2 (S (F IS )

B. Conversion of solid into vapour without passing through the liquid state is called sublimation.
(ST WIZIF WL FACT N 1N FIENF I FATSAS — A2 A4S (F I T GRATO(

C. Conversion of solid into vapour without passing through the liquid state is called freezing. (\o<¢1
RER WY A A A I FO TS FAT (F FlONGIN I0eT)

D. Conversion of solid into liquid is called sublimation. (WW?TW@G P AR NFHO
(F T T ORTOw(

Hydrogen has three isotopes which are known as Protium (*;H), Deuterium (?:H) and Tritium (3:H).
Why are all the isotopes neutral in nature?

RGO O~ SRACEIN [, =1 Afowrw (4H), SO (3H) 93g BT 3H)
2R AT 42 TS WROMOINSET AFS B[] (F=?

A. Isotopes have same number of neutrons. (2CATCBINSHCS AT LTF NGEN A=)



27.

28.

29.

30.

31.

B. All the isotopes have one electron and one proton, hence they are neutral. (TS QARCATBICANT
GHf6 2AJN A2 AF6 (ATEN (AR, ©I2 4 fBTe)

C. All the isotopes have one proton and one neutron, hence they are neutral. (TS SIX{ATCGICHN
G5 (26N G3e AFT [NOEN A, ©12 I NBfEe)

D. Increasing number of protons in the isotopes make them neutral. (WT?CWCT’J‘T‘*’T W3felo
TFAILA (ATONS One [NSGs I (1)

Consider the following statements. Which of these statements are correct?
AR RIS e [REEN F91 GF T (FH0 A2

(a) Both acids and bases change colour of all indicators. (RUIG ]S T SoI2
SN NPT 78 “[{70 BF)

(b) If an indicator gives a colour change with an acid, it does not give a change with a
base. (M (FS NTF (FHS TG ALY 8 ARTIEN FF ©F 5
IR S (FNS AIIS (7T )

(c) If anindicator changes colour with a base, it does not change colour with an acid.
@AM (@S N B0 I MY 78 ATV F ©F A6 ST S
3 AfIION FI M)

(d) Change of colour in acid, and/a base depends on the type of the indicator.
(STATG 8 SR 8 ARTIO, N7 40 T N9 F13)

A. All four (SIRTGITISB)
B.aand d (a d<dR d)
C.bandc (b d<g c)

D. Only d (BT d)

Oxides of non-metals are usually —

O] ARGV ATHFTS —

Acidic (SUTE(
Neutral (&*)
Amphoteric (GOLI(

Basic SIE

o0 wp>

Of the following which is a good conductor of both heat and electricity?

N3 (PG O & Bfored AR 2

. Diamond (%?1?5)
. Graphite (ATIR0 )

A
B
C. Charcoal (BICpIeT )
D. Coke ((FTPR)

Lead Nitrate on heating liberates which gas?
(TG NIRCGLG OI AT FACS (FI ST T AN 2

A. N2 B. O; C. COq D. CO

In the reaction: H.O2+ Cl; > 2HCI +0O3, the reducing agent is —



32.

33.

34.

35.

36.

37.

492 RfFNore @it [oes mar?
A. Cl B. H.0» C. 0, D. HC

A metal on reacting with steam liberates H, and produces metal oxide. The metal is —

GF0 4G CeY T AT S RIFIT 2GS 01 56 I I3 4Toq IR B N
A, 4TSI = -

A. Hg B. Fe C. Na D. Ag
For tin plating on iron article the electrolyte used is —
(A=A (FIAT IBCS BT AT (MSTR T IO oG, [RTEfG =4 —

SnS solution (SnS &19)
SnCl; solution (SnCl, G<9)
FeCls solution (FeCl; &)
FeSO. solution (FeSO4 &)

oo wp>

The number of cations and anions present in Znz(POa). are respectively —

Zns(PO.), (© BATZ® FICITN 8 SN LI JATGRCN -
A. (2,3) B. (3,2) C.(2,2) D. None of these
Which of the following is a redox reaction?

fARfafde @t orRa-R[Roms [

A. Inthe atmosphere, O3 is produced from O; during lighting. (SSATTO] A
AINSTE O, (ATF O3 (o)

B. The reaction of H,SO. with NaOH. (NaOH & ST H,S0, 47 fRf&s)

C. Rusting of iron. (mﬁﬂ A0T)

D. Evaporation of water. (\Gi(eTd 31’951]\%14)

Which of the following should not be used in the laboratory preparation of hydrogen, using zinc and
an acid?

N6 (PG / (S fGF 933 I IR FE JIGNGH MO AN SO
IR H1 Of5® FT?

(i) dilute HSO4 (FTY HSOu( (ii) dilute HNO3 (3T HNO3)
(i) dilute HCI (€T HCI) (iv) Acetic acid JSINIBF SNFTG)

A. Only (iv) (ST iv)

B. Only (i) (SIS ii)

C. Both (ii) and (iv) (i 933 iv 7fG2)
D. (ii), (iii) and (iv) (i, iii 43¢ iv)

On electrolysis of dilute sulphuric acid using platinum electrodes, the product obtained at the anode
and cathode will be respectively —



38.

39.

40.

41.

42.

ANENN SEeRR I I Y MEARFOEP WG ©foe [T F (A WIAG 33
PICATTG FATG@CN BN = -

A. Hydrogen and Oxygen (RTQGITG 478 AFHTG)

B. Oxygen and Hydrogen (TG 49¢ RIR0GITGA)

C. Hydrogen sulphide and Hydrogen (RI2TGITGN ARG A8 RIROGTGH)
D. Sulphur dioxide and Oxygen (STIETPId GI2 W2 I8 NHG)

Which dissolves in water to give a blue solution?

(FIAID G TIAg® (T el I TIT B N FI?

A. Na,S;04 B. K,CrO, C. Cu(NOs). D. Zn(OH),
Which set of characteristics describes a metal?

(P CIFRTYR JHI6 4@ BT F0a?

A. Melting point about 180°C, soft, electrically conductive as a solid.
(ST AT 180°C, NN, SGTod wﬁaéaﬁ—-n

B. Melting point about 388°C, soluble in CCl, (S/eTIF AT 388°C, CCly 4 &rdy)

C. Melting point about 801°C, dissolves in water to give an electrically conducting
solution. (STETNTIE 2ATX 801°C, T HIRT 8 TAG© (T OGS AFIZA FA)

D. Melting point about 1400°C, insoluble in water, has electrical conductivity that is
low at room temperature. (eT=I= AT 1400°C, G(eT WA, YK SO ATV
©hoe AR AR )

Brass gets discoloured in air because of the presence of which of the following gases
in air?

o IO (FIN HTTT Ty {799 =0 T2

A. Hydrogen sulphide (RIRIQITGN ATHIRG)

B. Oxygen

(FHTG)
C. Carbon dioxide (I GI2NIHA2)

D. Nitrogen

The greatest among the following numbers is —

SR T ATBfEF WYy TSNS 24 -

A.1/2 B. 2/3 C.3/4 D. 4/5

One 3-digit number 4a3 is added to another 3-digit number 984 to give a 4-digit number 13b7 which
is divisible by 11. Then the value of (a + b) is —

fON-D (T A6 YT 4a3 ST WAHBI6 fO~N-WTHI AU 984 -4 ST (9 B HI-W(H
G0 514 13b7 2N Y, T 11 JIT fIOTGT | OI=(, (a + b) I W 2 -

A. 10 B.11 C.12 D. 14

10



43.

44,

45,

46.

47.

48.

49.

A certain number of badges were distributed among a group of students in such a way that one
particular student got = th of the total number of badges. And it is seen that this particular student got

5 times of the average number of badges that rest of the students got. Total number of students is —

g IOF JH0 PO YA N AN [TO7T FAT (AR IO JH0 WTE B (W6
JATCGTR L LAY A G (AT (5T (57 (T SIS TG AT S ST [ AT OIF 570G 5 B3| & FHI0A
CT0 Qg LI = —

A. 24 B. 25 C. 26 D. 27

The smallest number that leaves a remainder of 4 on division by 5, 5 on division by 6, 6 on division
by 7, 7 on division by 8 and 8 on division by 9 is —

(AT SLACF 5 QIR G FAET 4 QI A, 6 BT O FAE 5 SN ATH, 7 RN O
FATA 6 TN A, 8 AR I FICE 7 QI AMFE S 9 BRI ©151 FACA 8 SIS ATH, I
FAON ALY e —

A. 2520 B. 2519 C. 2521 D. 2719
The next number of the sequence %, 16,12,9,__ will be —

63—4, 16,12,9, (Moo *wae! Sie2mfe = —

A. 6 B. 11 C.6.75 D. none of these

Assume that V13 = 3.605, V130 = 11.40. Find the value of V1.3 ++/1300 ++/0.013.

NN FT V13 = 3.605, V130 = 11.40, OIR(1 /1.3 + /1300 ++/0.013 -9 N~ (I —
A. 36.304 B. 37.304 C. 36.164 D. 37.164

A drink vendor has 368 litre of Milk, 80 litre of syrup and 144 litre of fruit juice. He wants to pack them
in bottles, so that each bottle contains the same quantity of drink, and doesn't want to mix any two
drinks in a bottle. The least number of bottles required will be —

3 TN [[RCFO FI07 368 6 7Y, 80 6 51197 8 144 0K Sre1d 951 ™Iy | f$f g7 ©I
82 NASACE YO TN (O ARG (@O TN T HNWT ACF ] dP2 ([Qole (FIN 72
AP AT FUF® N 27| FANCF I~ PO ([Qroted ATIGN?

A. 37 B. 46 C. 47 D. 35

If the expression (11.98 x11.98 + 11.98 x M + 0.02 x 0.02) be a perfect square, then the value of M is

M- (T TN G5 (11.98 x11.98 + 11.98 x M + 0.02 x 0.02) -5 ofI5f =3 o1 =7 -
A.0.01 B. 0.02 C.0.4 D. 0.04

Some persons reside in each of two buildings P and Q. If 15 persons are sent from P to Q, then the
number of persons in each building is the same. If 20 persons are sent from Q to P, then the number

11



50.

51.

52.

53.

54.

of persons in P is double the number of persons in Q. The number of persons reside in building P is

P 8 Q HfD IO fFF T UTF WT AMF | 15 GNP M P (ATF Q (S I TF O 7o IMGre2
SN AP N [ | ARE M Q (ATF P (S 20 TN ATIAT TF OF P (S NI AT Q -
A7 TR 2(F| P (O NI HYT -

A. 140 B. 90 C. 80 D. 120

A clock takes 9 seconds to strike 4. In order to strike 12 at the same rate, the time taken is —

(P ST 4 6 T GO 9 CNFS ST A5 82 UGr® 12 G 767 IGT® (T SN 1051 ©f =T

A. 33 seconds (TP D)
B. 27 seconds (((P D)
C. 30 seconds ((A(PD)
D. 36 seconds ((A(PD)

If two diagonals of a quadrilateral are given, then we definitely can construct a unique —

576 FRYIGE 76 Ff NS, O WA NPT (FITNEG JHF032 (T TQGG W T O 2

A. Parallelogram (TTNS{EF)

B. Rectangle (N0 (%.9)
C. Rhombus (3)

D. Trapezium (Efﬂf@ﬂﬂ)

1cm?dis equal to —

1cm?d AV —
A.liong B.liosm3 C.1x103m? D. 1x 10 m3

What is the value of v+/2.25 + 16.25 is —
VV2.25 +46.25 - g9 VT Re —

A.2 B.1.75 C.25 D.1.25

The perimeter of a scalene quadrilateral ABCD is —

5% FRANAIE 5gGo ABCD -47 AT -

A. equal to (AC + BD)
(AC + BD) -49 NI
B. > (AC + BD)
C. < (AC + BD)
D. equal to double of (AC + BD)
(AC + BD) -44 R ST
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55.

56.

57.

58.

59.

60.

61.

In a division, product of the quotient and the remainder is 24 while their sum is 10. If the divisor is 5
then dividend is —

(PN OI9 AU OIPe & GINHIT BNHeT 24 A% OICRS (T9Fe 10 | TN OIS 5 =, OIRCE

A. 32 B. 34 C. 36 D. 38

A two-digit number is equal to 60% of x. A new two-digit number is formed by reversing the digits of
the original number and the new number is equal to 160% of X, then the value of x is —

T2 ST JBT0 STLT x - 97 60% - TN | WIHHOI N ANFIG B (T N T4 AISH Iy
O X -9 160% -4 ST, OI=( X -9 NN e —

A. 45 B. 54 C. 63 D. 72

If 7*1=64, 3*9=144, then the value of 5*6 will be —

MM 7*1=64, 3*9=144, O 5*6 - 47 N~ (I —

A. 22 B. 45 C.101 D. 121

An assignment is done by three people P, Q and R. P alone takes 20 hours to complete the

assignment but Q and R working together takes 8 hours for the completion of the same assignment.
Then the time required to complete 28 such assignments if all of them work together is —

P,Q,R -(F JF6 BIG (M ZCAC, P I 20 TOIT IIGC STF I(H, 8 Q 8 R 43(F 8 TON
S R TR G1E A0 28 G IS ST FHCO (T SN 191 ©F T —

A. 140 hours (S°GT)  B. 160 hours (F°GI) C. 120 hours (¥°61)  D.180 hours(<7G)

Among which of the following polygon has the equal number of sides and diagonals?

ET (FH ITQLGR IR 8 BN TG A2

A. quadrilateral (59O
B. hexagon (Y w\9)

C. heptagon ((TEY9)
D. pentagon (HBYYG)

In'which of the following triangles, the altitudes and the medians are equal?

NEF (T FAGrGE GOl & VTN ST —

A. acute angled (Wmﬁ)f)
B. obtuse angled Wﬁ)
C. equilateral ((TN{IR)

D. isosceles (WYII:‘EFITQ)

If ‘@’ is positive and a* — 62a? + 1 = 0, then the value of (a® + 1/a3) is —
‘@’ AP MY GR a* — 6222 + 1 =030, (@ + 1/a3) -9 WV F —

A. 648 B. 392 C. 488 D. 512
13



62.

63.

64.

65.

66.

67.

Which number in the following represents the value of perimeter and the area of a square
simultaneously?

RS (F 2400 I IfCHFE ATV 8 CFITHET NN JF 2T N a2

A. 121 B. 64 C.25 D. 16

If 3™ x 3% = 35 then mis equal to —
3M x 33=3°R(eT m I VN (I -
A.8 B.2 C.3 D. 4.

The ratio of the length and the perimeter of a rectangular plot is 1:3 and the ratio of the perimeter and
the breadth of that plot is 6:1. What is the ratio of the length and breadth of that plot?

B0 AMOERAF (M 8 AT WYAT® 1:3 43 AT 8 ATBI WANS 6:1, O CFA6A
My 8 AT WYAT® I —

A. 1:3 B. 6:1 C.21 D. 1:2

What change is made in the area of a rectangle by decreasing its length and increasing its breadth
each by 5%?

B0 WNOEHIEAR (RS 5% I =6 I3 B 5% IO (A, WFOEFA0d Chaed ol
HNgafow =T 2

A. 0.25% decrease (0.25% X))
B. 2.5% increase (2.5% i’l%)
C. 0.25% increase (0.25% i)
D. 2.5% decrease (2.5% JI)

See the following solid and find the number of edges of it —

Ao FAEG TNIBIO 7567 F9 G2 AT LI SR T Heam -

-~ A

A.5 B. 10 C.20 D. 15

A train crosses a telegraph post in 9 seconds, and a bridge in 21 seconds. If the length of the bridge
is 260 meter, then the length of the train is —

IF6 (G a6 GHATT ors 9 CNHFS 8 G5 TYF 21 CNIS WfoFN F(F| M Ted
nfs 260 TG 2T, O (RN (7 =T —

A. 195 meter (FNOIR)
B. 200 meter (NB)
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68.

69.

70.

71.

72.

73.

C. 220 meter (NBR)
D. 250 meter (FNGIH)

In a 100 meter race, A defeats B by 10 meter and C by 28 meter. In the same race B defeats C by —

100 fNBIF (MG AfSTITOIT A, B (F 10 fBITA & C (I 28 O TS F( | 82 q62 AfSrifsrery
B, C ( T MBI “/HS B ©f Tl —

A. 18 meter (RBIR)
B. 20 meter (FNBIH)
C. 27 meter (ﬁlﬁﬁ)
D. 9 meter (NB)

In an examination, a student scores 4 marks for every correct answer and loses 1 mark for every
wrong answer. If he attempts all 60 questions and secures 130 marks, the number of questions he
attempts correctly is —

B0 A AfS6 AT CBII G 4797 (AT T I32 G GBI G0 1 N (6 (&
= IW (AT AHIR T 60 5 ATYI2 T8I F(F 130 VT WG F(F, ©F O TOBH AN
5% Bed AR of = —

A. 35 B. 38 C. 40 D. 42

To fill a tank, 30 buckets of water is required. How many buckets of water will be required to fill the
same tank if the capacity of bucket is reduced to two-fifth of its present capacity?

B0 BIETF ©f® B G 30 IS Gietd ATIG, I IO WTo~ BT OIF F3- 26N
IR, OF 4 33 GIEIT ©f® A1 T IO 1O GLeTd ATIMG =S, ©F T —

A. 65 B. 70 C.75 D. 80

The most abundant protein present in hair shaft is:

VI GTAF *MCH G AT (1 (2Nfow G 36w
A. Hemoglobin (FRTNCanI=)

B. Keratin (GF416)

C. Albumin (STEI]f=)
D. Collagen ((RTEITGN)

Which of the following food sources has the highest content of lipid?
RS @ Gon SRS (@R S “migf IR 2

A. Pulses (\GI<7)

B. Butter (N1¥")

C. Chicken (@M We™)
D. Vegetables (*IF S]fQ)

In moderate to severe cholera, the patient often experiences numbness in the limbs. What might be
the cause?

TR 1 O IFN FAN T FLAS FYNG (@M ZTS- AT WG O N6 FA 1 I FIAV Bl IS AD?

A. Blisters appearing on the skin (BTOR (FIFT 8N
15



74.

75.

76.

7.

78.

79.

B. Allergy (JeTfgy X&)

C. Excess loss of water and salt, and resultant ionic imbalance (N7 (A(F WS
AR GreT 8 7N ([T WSAF IR (AR AN OIFy [iNe 287)

D. lowering of body temperature ((MTRL OIATGT I AT

What in your opinion could be done for one measure to slow down global warming?
Y THRAE TF Z FACO (SN WO (FIN F1G 6 F1 (IS A2

A. more efficient crop rotation (A48 WHwIJ 37 SRS GRS (w83

B. depending more on coal-based thermoelectricity power (F¥eT fN$F Sr4fIvred
8217 WIS (I NG F1)

C. driving more cars on CNG instead of petrol or diesel (8 (I T2 NGTH
(TG T FOTSE U APROP ST SATRICT BIACAI)

D. obtaining more power from thermonuclear power plants (AN [{73e (T
(AT WES ([ [ge (|87)

Which variety of rice would you prefer in order to harvest the crop in about three months?

I FOTNTRA YT TN (TS (5101 QN (I GO 4N NZW FAE ?

A. Pankaj (189)
B. Masuri (YP]¥)
C. Jaya (G)

D. Ratna (391)

Coral reef contains a high proportion of which mineral compound?
2R ATBIT Y7 QR AR (FH 4o (oifE s

A. Sodium carbonate (TGN FRAG)

B. Calcium sulphate (IERTITN SAETC0)

C. Calcium carbonate (FVTIN FILG)

D. Magnesium sulphate (STCANIN SECHE)

By which name the fine solid or liquid particles dispersed in the air called?
O SIS FfOA I OIS I I ICeA?

A. coagulum (926 fH)
B. dispersion ([J5g4)
C. suspensions ([N&T5")
D. aerosols (4Tdr7e)

Why would you prefer the modern process of apiculture over the traditional one?
CNATETS OB @0 QA= N YR &S (TR (N (A ?

A. fixed honeycomb hive (15T SIS %F)

B. better yield (G AN AN (I#Y)

C. productive during rains too (?N‘I?FTCF[\‘S B A =)

D. faster process (Z©0wd B ATH)

What in your opinion is the major cause behind gradual disappearance of fishing cat, the state animal
of West Bengal?
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80.

81.

82.

83.

84.

(STNIF N, A NI AT A, INCANAT PN NI BT AL BT Bl 2

A. Indiscriminate reclamation of its natural habitat (I3 2FSF WRFTEER TG
LEGLIE)!

B. Hunting by predators (st 21 =Te)

C. Competition with other predators (ST fRIFIt AN 7R S5 AfSTfore)

D. Low breeding rate ((NNZITT 2Gw=)

Eukaryotic cells are found in which organisms?

ICHRETF (Y AT I (N GIITRI NS 2

A. All organisms (TS &)

B. Organisms of the kingdom Monera (WW@?)

C. All organisms except the kingdom Monera (NTNAT AGT TS TS Gi7)

D. Some more developed organisms of the kingdom Monera and organisms of all
other kingdoms (AT ACTNR SO [F7 GIK WH S 5+ ACGHF GiF)

Which of the external environmental factors affects conversion of milk into curd?
I AIACR (FI GATHID FHTF R2S AR A FAMG(F AOIS B2

A. Environmental temperature (NRIINE ©1orN1&T)

B. Relative humidity of air (MR ATAFS W&ol

C. Quantity of Lactobacillus (FITFCGIRNIEAST G ATy
D. Air pressure (Irg 1Y)

What is an organism called, which transmits pathogens from an infected person to another healthy
or infected person?

(FIAT IF STPIN® S (ATF WA g 3F I PO ST ATATGN IZNBIA QI I NN GIp]
=2

A. Host ((TTF)
B. Germs (GI19)
C. Carrier (A1R<F)
D. Vector ((SgF)

The pandemic which got infamous by the name “Black death” was spread by which agent?
(T SN "FIEF (G NN FATS, (6 QG -

A. Mosquitoes (W=7 (YTF)

B. Spores ((I% (V)

C. Rats (R4d (A(F)

D. Bees (VIR (ATF)

In order to peel-off the jute fibers, the stems are immersed in pond water. What is the purpose?

O PG G ATGNG (F Giied fOfory A4l T Ao It maHId a1 72

Prevent the stem from rotting (A&~ (YTHF FIG(F Tl FAH GAJ)
Degrade the pectin by bacteria (PG AT (AfFTAL 5FY)
Compact the jute fibres in a bundle (9% @feld (5% Cofd F1)
Make the jute fibres more durable (O% RfeT(F ST (GHFHR F4)

oCow>
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85.

86.

87.

88.

Mature human RBC bursts when placed in water. What is its reason?
LA ARTS (@RS TS HVH G AU (FL6 | I FIRT 12

A. Protoplasm of a mature human RBC is hypertonic to water (N(Iq A{T® (Tz®
TG BIVPIF (ANCIATGN QT QAT ASHIF)

B. Mature human RBC lacks a nucleus (V<< 3T (A12® 7% FAFN NoFIs
) [&30)))

C. Protoplasm of a mature human RBC is hypotonic to water (N(IF AKTS (T12®
T BIVPIA (AOIATCTN G QeT~IT L)

D. Mature human RBC has a brittle cell membrane (<< AT (12 ISIABIF
(I O9R)

Which of the following sentences does not reflect similarity between Rhizobium sp. and Escherichia
coli?

RS (W IFIT ARSI 8 E. coli 42 FRITI WL S (F ASHRTS I = 2

A. Both are bacteria (462 IITHGI)

B. Both live in soil as their natural habitat (%532 Freiis WRP=EH WH)

C. Both exhibit symbiotic relationship (762 fRTATGHR®r 27*f~ )

D. Both often cause diseases in humans (Efﬁi AR WIF (MR @T‘?T??ﬁ FE)

Which of the leaves is different from the other three on the basis of the type of the lamina?

T OIS (FAG AT AFOINT (S Sro JF ATOISF (AT SATI?

A.

Eggplant leaf Rose leaf Radish leaf Mango leaf
(R A1) (COTTETTA #TeN) (ICET ATT) (ST TSN

Consider the two statements:

Statement |. Pollens from anthers combine with ovules in the ovary.
Statement Il. The ovules develop into seeds.

Now find the correct answer:

e 2f6 35T (ot e

IS |: AL (ATF AT AT oM T A0 Nfe® =7
IS 1I: fom e =0T A tofF |

1T A5 TBAfT ([0g 183

A. Statement | is true but Statement Il is false (I35 | {3 fF® ST 11 G&1)

B. both Statement | and Statement Il are true, and | is the cause of Il (%<7 | A
IS 11 {02 O0F, a3 IS | T IS 1| 97 FIA)

C. both Statement | and Statement Il are true, but Statement | is not the cause of
Statement Il (IST | R IS || Fo2 O, [FG IS 1l 97 FIRIYV IS | 1¥)

D. Statement | is false but Statement Il is true (IS | GeT ([FG IS<7 1l FS‘QS)
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89.

90.

91.

92.

93.

The epithelial tissue covers and protects our body surface and the organs. Which shape is most
suitable for the epithelial tissue to this effect?

WREA el WNTRE (AR AR O] WK [IIOF S5 SIRATT WRE 579~ B W OO0 561 DA I3
YTV G AT G ARV BT I (PN =T G OIeA1?

A. hard, long and tubular (30, =TT 4<% VIRIF)

B. elastic, flat, wide and thin (F¥NI, BI196T, 58T W 2T@eT)

C. soft and elastic irregular mass (V4N WF NN AVTOIFF )
D. soft jelly like (N (SfeTd NCwN)

Carrot stores food for future use, and becomes swollen. Which cellular organelles may be related to
the characteristic features of carrot?

NG SIRTOF G ARIF TN 0L 0T o Z0T ST | STGIAT (MTRF A2 TN (IRICRIR S0 MG
(I (A AHI T AFS AI?

A. chromoplasts and leukoplasts ((ZFITNIATG WK TSIHIATH)
B. leukoplasts (fFTGIFIATD)

C. chromoplasts (CZFITNIATD)

D. chloroplasts (GFIRTATE)

What should be the shape of the cells in plants that help in conduction of water from root to the
leaves?

MR (T (F13feT T (ATH ATOT Grel BT SRS P (T2 (PIYRfeAT WPho (FUN 287 Tow?

A. spherical (COMARIHFIS)

B. tubular (YelIHIR)

C. disc shaped (515f® WF©3)
D. polygonal (IRuGI<FI¥)

If you were a farmer, which of the following methods would you use after harvesting to separate
good quality grains from rotten ones in a heap of grains?

O I PG FIF R AP, OIRCe THA FIOTF AT *HT GUA AT ISR (ATH OICed] NN
TR T FICO [NIET (1N Ao IR FAR?

Checking the weight of the grains (TR 8GN AT F4T)

Checking grains under sunlight for pores (STITAHE TG *SHAAT (A0 &35 4o
Immersing the grains in water (*/STTAINT Gtel BT 14N

Sowing seeds and waiting for germination (IS I2/= FAT I WGHFTARANTNI G
QA RN

OCOow>

A pea seed fails to germinate if the cotyledons are severely damaged before sowing. What may be
the reason?

T TS AF(T WO ATGE AGAASET 47 @ TFN oIS 20 A6 0T TGFERMETN T W | I FIRY
Jl =CO AF?

A. the cotyledons supply food to the growing embryonic axis (SHABF [T TS
YIHF IJTHP YT AR FA)

B. the cotyledons supply oxygen to the growing embryonic axis (SGH@ S @G
OO ATBT JHNH(P WAHGH IR PLA)

C. the cotyledons perform photosynthesis for the growing embryonic axis (ﬁi’\'ﬁ"@@ﬁr
([0G GHTO ATHT ZNCHI Gy SACEATFALTEY PUA)
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94.

95.

96.

97.

D. the cotyledons keep the growing embryonic axis warm (%"1@@% TP OB
qy)

What is the purpose of administering saline solution to a patient on whom an operation has been
performed?

AN IS (RN SIEAIRN (R ST B2

A. to supplement the blood lost in operation ((MTR AN T BT ASFT NI
pEREZ)

B. to supplement the water lost in operation ((MTR AN FIT ST G(e1d WOl
PERET))

C. to supplement the salts lost in operation ((MTR AATTI*TN TFH BT AT 9K
PEREZ))

D. to supplement both the water and salts lost in operation ((MTR AT THIY S
(UG AV R ER AU EACIC) Sl BRI )|

Which of the statements expresses similarity between bacteria and fungi?
(I ISBI6 BIHORA WF RATP VT ST AP L2

all of them have cell wall (4TI STHFTAF (FTIATHIT TSW)

all of them have true nucleus (I T AFS NEFAT IONW)

all of them are devoid of chlorophyll (4THE FICATRR (GNP ACH A1)

all of them divide by amitosis (43T STBCEIR SHTNIRLOIT NG OF NI (I [Ore=
)

oCow>

Compare the raisins before putting in salt water (figure on the left) to those an hour after putting in
water (figure on the right). To which process could you relate the change after soaking?

I A BRIG R 7139 Tel BfReT 147 AR 271 OF i 83 Refmrefe aerens O q901
TR ANF AR BRI AR BRI A% AR ZRA6 QoI ST OO (RN = [pipresEm o

entry of water into the raisins (FF*IMIE LT Gl HIAIR)
entry of salts into the raisins (PRSI T 779 RIAIR)
exit of water from the raisins (P (ATF Gl ([T (TR)
exit of salts from the raisins (RFF*ISIfE (ATF #I9 (R (51R)

oCow>

Which of the following organisms is different from the other three on the basis of their classification?

AR fOfETs ATEe GRS W4T (FG W efeg gery fox?

T B C P i 5
Yeast Button mushroom Salmonella enterica 20

((ITOTY W*PN)  (CTIETCNITNEAT JT0ISPT)



98.

99.

100.

Consider the two statements:

Statement |. The stem of most cacti has cells filled with slimy mucilage.
Statement Il. The stem of most cacti store water inside of the cells of the stem.
Now find the correct answer:

fNrea 736 I (o AT

IS | AIEHILH FIFOM MR B0 AR OO Ol (M A |
IS || ; G FIHFOMT SRR FIS OF (FIHF N T BT FI AL
NG E RS PRI SR RE

A. Statement | is true but Statement Il is false (I&35 | {33 fF® 3537 11 G&7)

B. both Statement | and Statement Il are true, and | is the cause of Il (&7 | A
IS 11 62 3, I32 IS | T61 IS 11-43 FIR)

C. both Statement | and Statement Il are true, but | is not the cause of Il (%5 | A
IS 11 7f6R 3, 5@ IS 1l 97 FRYI IS | 77)

D. Statement | is false but Statement Il is true (I35 | g1 fFE IS Il ﬁgﬂi)

In many experiments cells are often isolated from various organisms. Which feature of the nucleus
of the different cells could tell us with some certainty to which organism it belongs?

WASF A RGN G (T 4% F1 2| RGH (@09 NOSFR0IR (1 &8y (Mr (oryfo
RSSO I T8I (I G (ATF 82 (F (ST AAMR?

A. The size and shape of the nucleus (fRNGIFACTN AFIH AH ATO)

B. The number and structure of the chromosomes ((EFITNTSITNS ST WK HF)
C. The size and shape of the nucleolus (fFRGIFSTH WHE 8 ATO)

D. The number of nuclei (G S 4m)

In an electron microscope, live sample cannot be observed, what may be the reason?
AP HN NRCPIHIN GRS AT (A T AT, I FET B =S AN

A. Live samples are too large(Gi® N1 YJ I0)

B. For a good observation, the specimen must be specially prepared in such a way
that the specimen dies (ST O AHLITHIT TN GITS TYAH [T ©IF AFS
A1 R, BT OIF T NCG)

C. Live samples do not scatter electron (GIq@ T (AFZAF [SHRAS B )

D. Live samples are transparent to electron beam (GII® VA1 ARG I FICG
TIR)
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